Nombres Décimaux (E)

76 - 0,29 =

87-6=

32-5,4=

5,6 - 0,46 =

0,7-0,48 =

3,9-0,29 =

6,2-0,75 =

9,9-6,6=

43-6,7 =

2-0,36=

Trouvez chaque différence.

12-1,7=

84 - 0,89 =

47 -4,6=

0,48-0,19 =

27-43 =

9,6 - 0,25 =

3,2-0,68 =

73 -0,99 =

4-27=

38-2,5=
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Nombres Décimaux (E) Solutions

Trouvez chaque différence.

76 - 0,29 =75,71 12-1,7=10,3

87-6=281 84 -0,89=283,11
32-5,4=26,6 4,7 -4,6 =0,100000000000001
5,6 -0,46=15,14 0,48 - 0,19 =10,29
0,7-0,48=0,22 27-43=22]7
3,9-0,29=3,61 9,6 - 0,25=9,35
6,2-0,75=545 3,2-0,68=2,52

9,9-6,6=3,3 73-0,99 =72,01

43 - 6,7=36,3 4-27=13

2-0,36=1,64 38-2,5=35,5
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